



Majoration of the modulus of the Schwarzian of certain quasi-conformal maps

Brayker Tendresse KALOUHOHIKO¹ & Rufin EYELANGOLI OKANDZE²

¹Faculté des Sciences et Techniques, Marien Ngouabi University, Republic of Congo

²École Normale Supérieure, Marien Ngouabi University, Republic of Congo

Abstract:

In this work, we have proposed a majoration of the modulus of the Schwarzian of certain quasi-conformal maps, defined in the open unit disk $\Delta = z \in \mathbb{C} : |z| < 1$. Using the Schwarzian, we have found some relations linking the Taylor coefficients of these maps.

Keywords:

Quasi-conformal map, class \mathcal{S} , complex dilation, Schwarzian, Nehari's theorem, harmonic map.

1. Introduction

In this article, we have proposed, on the one hand, a majoration of the Schwarzian modulus of certain quasi-conformal maps and, on the other hand, some relations on the Taylor coefficients of these maps, defined in the open unit disk using the variational method. This method is proving effective in solving several problems that undermine the geometric theory of complex-variable functions.

The various aspects of using this method are significantly mentioned in a large number of works (for example [3], [4], [7]).

Recall that the Schwarzian of harmonic maps is defined by :

$$\left\{ f, z \right\} = 2 \left[[\ln \lambda(z)]_{zz} - [(\ln \lambda(z))_z]^2 \right] \text{ avec } \lambda(z) = |h'(z)| + |g'(z)| \quad (1)$$

We will adapt this Schwarzian to a quasi-conformal map, defined in the open unit disk.

2. Theorem

Let $f(z) = h(z) + \overline{g(z)}$ be a quasi-conformal map, defined in $\Delta = \left\{ z \in \mathbb{C} : |z| < 1 \right\}$, with h and g two univalent and holomorphic maps, defined in Δ , with values in \mathbb{C} such that $h'(0) = 1$. Then for all $z = re^{i\theta} \in \Delta$ we have :

$$\left| \left\{ f, z \right\} \right| \leq \frac{2}{(1-r^2)^2} + \left(\frac{4+2r}{1-r^2} \right)^2,$$

Demonstration

- Expression of $\{f, z\}$ as a function of $\{h, z\}$ and $\{g, z\}$.

$$\{f, z\} = 2 \left[[\ln \lambda(z)]_{zz} - [(\ln \lambda(z))_z]^2 \right]$$

Thus

$$\{f, z\} = \frac{2\lambda''}{\lambda} - 4 \left(\frac{\lambda'}{\lambda} \right)^2 \tag{2}$$

Looking for $\lambda'(z)$ and $\lambda''(z)$

$$\lambda'(z) = \left[|h'(z)| \right]' + \left[|g'(z)| \right]'$$

$$|h'(z)| = \sqrt{h'(z) \cdot \overline{h'(z)}} \implies \left[|h'(z)| \right]' = \frac{h''(z) \overline{h'(z)}}{2|h'(z)|}$$

In the same way :

$$|g'(z)| = \sqrt{g'(z) \cdot \overline{g'(z)}} \implies \left[|g'(z)| \right]' = \frac{g''(z) \overline{g'(z)}}{2|g'(z)|}$$

The result is
$$\lambda'(z) = \frac{h''(z) \overline{h'(z)}}{2|h'(z)|} + \frac{g''(z) \overline{g'(z)}}{2|g'(z)|}$$

$$\lambda''(z) = \frac{\overline{h'(z)}}{2} \left[\frac{h''(z)}{|h'(z)|} \right]' + \frac{\overline{g'(z)}}{2} \left[\frac{g''(z)}{|g'(z)|} \right]'$$

$$\lambda''(z) = \frac{h'''(z) \overline{h'(z)}}{2|h'(z)|} - \frac{[h''(z)]^2 [\overline{h'(z)}]^2}{4|h'(z)|^3} + \frac{g'''(z) \overline{g'(z)}}{2|g'(z)|} - \frac{[g''(z)]^2 [\overline{g'(z)}]^2}{4|g'(z)|^3}$$

$$\frac{\lambda''(z)}{\lambda(z)} = \frac{h'''(z) \overline{h'(z)}}{2|h'(z)| \left[|h'(z)| + |g'(z)| \right]} - \frac{[h''(z)]^2 [\overline{h'(z)}]^2}{4|h'(z)|^3 \left[|h'(z)| + |g'(z)| \right]} + \frac{g'''(z) \overline{g'(z)}}{2|g'(z)| \left[|h'(z)| + |g'(z)| \right]} - \frac{[g''(z)]^2 [\overline{g'(z)}]^2}{4|g'(z)|^3 \left[|h'(z)| + |g'(z)| \right]}$$

Or

$$\mu_{f(z)} = \frac{f_{\bar{z}(z)}}{f_z(z)} = \frac{g'(z)}{h'(z)}$$

Therefore:

$$\frac{\lambda''(z)}{\lambda(z)} = \frac{h'''(z)\overline{h'(z)}}{2|h'(z)|^2(1+|\mu_{f(z)}|)} - \frac{[h''(z)]^2[\overline{h'(z)}]^2}{4|h'(z)|^4(1+|\mu_{f(z)}|)} + \frac{g'''(z)\overline{g'(z)}|\mu_{f(z)}|}{2|g'(z)|^2(1+|\mu_{f(z)}|)} - \frac{[g''(z)]^2[\overline{g'(z)}]^2|\mu_{f(z)}|}{4|g'(z)|^4(1+|\mu_{f(z)}|)}$$

$$\frac{2\lambda''(z)}{\lambda(z)} = \frac{h'''(z)}{h'(z)(1+|\mu_{f(z)}|)} - \frac{[h''(z)]^2}{2(h'(z))^2(1+|\mu_{f(z)}|)} + \frac{g'''(z)|\mu_{f(z)}|}{g'(z)(1+|\mu_{f(z)}|)} - \frac{[g''(z)]^2|\mu_{f(z)}|}{2(g'(z))^2(1+|\mu_{f(z)}|)} \quad (3)$$

$$\frac{\lambda'}{\lambda} = \frac{h''(z)\overline{h'(z)}}{2|h'(z)|[|h'(z)|+|g'(z)|]} + \frac{g''(z)\overline{g'(z)}}{2|g'(z)|[|h'(z)|+|g'(z)|]}$$

$$\frac{\lambda'}{\lambda} = \frac{h''(z)}{2h'(z)(1+|\mu_{f(z)}|)} + \frac{g''(z)|\mu_{f(z)}|}{2g'(z)(1+|\mu_{f(z)}|)}$$

$$4\left(\frac{\lambda'}{\lambda}\right)^2 = \frac{[h''(z)]^2}{[h'(z)]^2(1+|\mu_{f(z)}|)^2} + \frac{[g''(z)]^2|\mu_{f(z)}|^2}{[g'(z)]^2(1+|\mu_{f(z)}|)^2} + \frac{2g''(z)h''(z)|\mu_{f(z)}|}{g'(z)h'(z)(1+|\mu_{f(z)}|)^2} \quad (4)$$

By replacing the relations (3) and (4) in the relation (2), we have :

$$\left\{f, z\right\} = \frac{h'''(z)}{h'(z)(1+|\mu_{f(z)}|)} - \frac{[h''(z)]^2}{2(h'(z))^2(1+|\mu_{f(z)}|)} + \frac{g'''(z)|\mu_{f(z)}|}{g'(z)(1+|\mu_{f(z)}|)} - \frac{[g''(z)]^2|\mu_{f(z)}|}{2(g'(z))^2(1+|\mu_{f(z)}|)}$$

$$- \frac{[h''(z)]^2}{[h'(z)]^2(1+|\mu_{f(z)}|)^2} - \frac{[g''(z)]^2|\mu_{f(z)}|^2}{[g'(z)]^2(1+|\mu_{f(z)}|)^2} - \frac{2g''(z)h''(z)|\mu_{f(z)}|}{g'(z)h'(z)(1+|\mu_{f(z)}|)^2}$$

$$\left\{f, z\right\} = \frac{1}{(1+|\mu_{f(z)}|)^2}\{h, z\} + \frac{|\mu_{f(z)}|^2}{(1+|\mu_{f(z)}|)^2}\{g, z\} + \frac{|\mu_{f(z)}|}{(1+|\mu_{f(z)}|)^2}\{h, z\} + \frac{|\mu_{f(z)}|}{(1+|\mu_{f(z)}|)^2}\{g, z\} + \frac{|\mu_{f(z)}|}{(1+|\mu_{f(z)}|)^2}\left[\left(\frac{h''(z)}{h'(z)}\right)^2 + \left(\frac{g''(z)}{g'(z)}\right)^2 - 2\left(\frac{h''(z)}{h'(z)}\right)\left(\frac{g''(z)}{g'(z)}\right)\right]$$

$$\left\{f, z\right\} = \frac{1}{1+|\mu_{f(z)}|}\{h, z\} + \frac{|\mu_{f(z)}|}{1+|\mu_{f(z)}|}\{g, z\} + \left[\frac{h''(z)}{h'(z)} - \frac{g''(z)}{g'(z)}\right]^2 \frac{|\mu_{f(z)}|}{(1+|\mu_{f(z)}|)^2} \quad (5)$$

Let's put : $\tilde{h}(z) = \frac{h(z) - h(0)}{h'(0)}$ et $\tilde{g}(z) = \frac{g(z) - g(0)}{g'(0)}$

It is easy to check that \tilde{h} and \tilde{g} are functions of class S .

So
$$\left\{ \tilde{h}, z \right\} = \frac{\tilde{h}'''(z)}{\tilde{h}'(z)} - \frac{3}{2} \left[\frac{\tilde{h}''(z)}{\tilde{h}'(z)} \right]^2$$

$$\left\{ \tilde{h}, z \right\} = \frac{h'''(z)}{h'(z)} - \frac{3}{2} \left[\frac{h''(z)}{h'(z)} \right]^2$$

Then
$$\left\{ \tilde{h}, z \right\} = \left\{ h, z \right\}$$

In the same way

$$\left\{ \tilde{g}, z \right\} = \frac{\tilde{g}'''(z)}{\tilde{g}'(z)} - \frac{3}{2} \left[\frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right]^2$$

$$\left\{ \tilde{g}, z \right\} = \frac{g'''(z)}{g'(z)} - \frac{3}{2} \left[\frac{g''(z)}{g'(z)} \right]^2$$

$$\left\{ \tilde{g}, z \right\} = \left\{ g, z \right\}$$

The relation (5) becomes:

$$\left\{ f, z \right\} = \frac{1}{1 + |\mu_{f(z)}|} \left\{ \tilde{h}, z \right\} + \frac{|\mu_{f(z)}|}{1 + |\mu_{f(z)}|} \left\{ \tilde{g}, z \right\} + \left[\frac{\tilde{h}''(z)}{\tilde{h}'(z)} - \frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right]^2 \frac{|\mu_{f(z)}|}{(1 + |\mu_{f(z)}|)^2} \tag{6}$$

Taking the modulus of both and applying the triangle inequality in the relation (6), we have :

$$\left| \left\{ f, z \right\} \right| \leq \frac{1}{1 + |\mu_{f(z)}|} \left| \left\{ \tilde{h}, z \right\} \right| + \frac{|\mu_{f(z)}|}{1 + |\mu_{f(z)}|} \left| \left\{ \tilde{g}, z \right\} \right| + \left| \frac{\tilde{h}''(z)}{\tilde{h}'(z)} - \frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right|^2 \frac{|\mu_{f(z)}|}{(1 + |\mu_{f(z)}|)^2} \tag{7}$$

Based on Nehari’s theorem, $\left| \left\{ \tilde{h}, z \right\} \right| \leq \frac{2}{(1 - |z|^2)^2}$ and $\left| \left\{ \tilde{g}, z \right\} \right| \leq \frac{2}{(1 - |z|^2)^2}$

The relation (7) becomes :

$$\left| \left\{ f, z \right\} \right| \leq \frac{1}{1 + |\mu_{f(z)}|} \frac{2}{(1 - |z|^2)^2} + \frac{|\mu_{f(z)}|}{1 + |\mu_{f(z)}|} \frac{2}{(1 - |z|^2)^2} + \left| \frac{\tilde{h}''(z)}{\tilde{h}'(z)} - \frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right|^2 \frac{|\mu_{f(z)}|}{(1 + |\mu_{f(z)}|)^2} \tag{8}$$

Or
$$\left| \frac{\tilde{h}''(z)}{\tilde{h}'(z)} - \frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right| \leq \left| \frac{\tilde{h}''(z)}{\tilde{h}'(z)} \right| + \left| \frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right|$$

The relation (8) becomes:

$$\left| \left\{ f, z \right\} \right| \leq \frac{2}{(1 - |z|^2)^2} + \left[\left| \frac{\tilde{h}''(z)}{\tilde{h}'(z)} \right| + \left| \frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right| \right]^2 \frac{|\mu_{f(z)}|}{(1 + |\mu_{f(z)}|)^2} \tag{9}$$

\tilde{g} and \tilde{h} being functions of \mathcal{S} , then the applications $I(\tilde{h}(z)) = \frac{z\tilde{h}''}{\tilde{h}'(z)}$ and $I(\tilde{g}(z)) = \frac{z\tilde{g}''}{\tilde{g}'(z)}$ have the values of the disks

$$\Delta'(z) = \left\{ z : \left| \frac{z\tilde{h}''(z)}{\tilde{h}'(z)} - \frac{2r^2}{1-r^2} \right| \leq \frac{4r}{1-r^2} \right\} \text{ and } \Delta''(z) = \left\{ z : \left| \frac{z\tilde{g}''(z)}{\tilde{g}'(z)} - \frac{2r^2}{1-r^2} \right| \leq \frac{4r}{1-r^2} \right\}$$

$$\left| \frac{z\tilde{h}''(z)}{\tilde{h}'(z)} - \frac{2r^2}{1-r^2} \right| \leq \frac{4r}{1-r^2} \implies \left| \frac{\tilde{h}''(z)}{\tilde{h}'(z)} \right| \leq \frac{4+2r}{1-r^2} \quad \text{with } |z| = r$$

$$\left| \frac{z\tilde{g}''(z)}{\tilde{g}'(z)} - \frac{2r^2}{1-r^2} \right| \leq \frac{4r}{1-r^2} \implies \left| \frac{\tilde{g}''(z)}{\tilde{g}'(z)} \right| \leq \frac{4+2r}{1-r^2}$$

The relation (9) becomes:

$$\left| \left\{ f, z \right\} \right| \leq \frac{2}{(1-r^2)^2} + 16 \left(\frac{2+r}{1-r^2} \right)^2 \frac{|\mu_{f(z)}|}{(1+|\mu_{f(z)}|)^2} \tag{10}$$

Let $t = |\mu_{f(z)}|$ with $t \in]0; 1[$

We have :

$$\left| \left\{ f, z \right\} \right| \leq \frac{2}{(1-r^2)^2} + 16 \left(\frac{2+r}{1-r^2} \right)^2 \frac{t}{(1+t)^2} \tag{11}$$

Let's put $\varphi(t) = \frac{t}{(1+t)^2}$

Thus

$$\left| \left\{ f, z \right\} \right| \leq \frac{2}{(1-r^2)^2} + 16 \left(\frac{2+r}{1-r^2} \right)^2 \varphi(t) \tag{12}$$

Let's study the φ function for all $t \in]0; 1[$

$\forall t \in]0; 1[, \varphi'(t) = \frac{1-t}{(1+t)^3} > 0$, then φ is increasing on $]0; 1[$

t	0	1
$\varphi'(t)$	+	
$\varphi(t)$	0	$\frac{1}{4}$

According to the study by φ , for all $t \in]0; 1[$, we have $\varphi(t) < \frac{1}{4}$

So the relation (12) becomes :

$$\left| \left\{ f, z \right\} \right| \leq \frac{2}{(1-r^2)^2} + 16 \left(\frac{2+r}{1-r^2} \right)^2 \times \frac{1}{4} \quad (13)$$

From this

$$\boxed{\left| \left\{ f, z \right\} \right| \leq \frac{2}{(1-r^2)^2} + \left(\frac{4+2r}{1-r^2} \right)^2} \quad \blacksquare \quad (14)$$

3. Consequence

Let $f(z) = h(z) + \overline{g(z)}$ be a quasi-conformal map, defined in $\Delta = \{z \in \mathbb{C}; |z| < 1\}$, with

$h(z) = \sum_{n \geq 0} a_n z^n$ and $g(z) = \sum_{n \geq 0} b_n z^n$ two univalent and holomorphic maps, defined in Δ with values in \mathbb{C} such that $h'(0) = 1$, then :

a) we have either :

$$\bullet \quad |b_2| - |a_2| \leq 4$$

or either

$$\bullet \quad 4|b_1| \leq |a_2| + |b_2|$$

b)
$$\left| b_2 \right|^2 - \left| b_3 \right| \leq \frac{1}{3}$$

Demonstration

From the relation (6), we have:

$$\left\{ f, 0 \right\} = \frac{1}{1 + |\mu_{f(0)}|} \left\{ h, 0 \right\} + \frac{|\mu_{f(0)}|}{1 + |\mu_{f(0)}|} \left\{ g, 0 \right\} + \left[\frac{h''(0)}{h'(0)} - \frac{g''(0)}{g'(0)} \right]^2 \frac{|\mu_{f(0)}|}{(1 + |\mu_{f(0)}|)^2} \quad (15)$$

Taking the modulus on both sides and applying the triangle inequality in the relation (15), we have :

$$\left| \left\{ f, 0 \right\} \right| \leq \frac{1}{1 + |\mu_{f(0)}|} \left| \left\{ h, 0 \right\} \right| + \frac{|\mu_{f(0)}|}{1 + |\mu_{f(0)}|} \left| \left\{ g, 0 \right\} \right| + \left| \frac{h''(0)}{h'(0)} - \frac{g''(0)}{g'(0)} \right|^2 \frac{|\mu_{f(0)}|}{(1 + |\mu_{f(0)}|)^2} \quad (16)$$

On the one hand
$$\left| \left\{ h, 0 \right\} \right| \leq 2 \quad \text{and} \quad \left| \left\{ g, 0 \right\} \right| \leq 2 \quad [8]$$

The relation (16) becomes :

$$\left| \left\{ f, 0 \right\} \right| \leq 2 + \left| \frac{h''(0)}{h'(0)} - \frac{g''(0)}{g'(0)} \right|^2 \frac{|\mu_{f(0)}|}{(1 + |\mu_{f(0)}|)^2} \tag{17}$$

On the other hand :

$$\frac{h''(0)}{h'(0)} - \frac{g''(0)}{g'(0)} = 2a_2 - \frac{2b_2}{b_1} \tag{18}$$

Note that

$$|\mu_{f(0)}| = \left| \frac{g'(0)}{h'(0)} \right| = |b_1| \tag{19}$$

Then by replacing the relations (18) and (19) in the relation (17) , we obtain :

$$\left| \left\{ f, 0 \right\} \right| \leq 2 + \left| 2a_2 - \frac{2b_2}{b_1} \right|^2 \frac{|b_1|}{(1 + |b_1|)^2} \tag{20}$$

From the previous theorem, $\left| \left\{ f, 0 \right\} \right| \leq 18$

First case :

Suppose that $2 + \left| 2a_2 - \frac{2b_2}{b_1} \right|^2 \frac{|b_1|}{(1 + |b_1|)^2} \leq 18$

We have :

$$2 + 4 \left| a_2 - \frac{b_2}{b_1} \right|^2 \frac{|b_1|}{(1 + |b_1|)^2} \leq 18$$

$$\left| a_2 - \frac{b_2}{b_1} \right|^2 \frac{|b_1|}{(1 + |b_1|)^2} \leq 4$$

$$\left| a_2 - \frac{b_2}{b_1} \right|^2 \leq \frac{4(1 + |b_1|)^2}{|b_1|} \tag{21}$$

By definition of μ_f , we have :

$$\begin{aligned} |\mu_{f(z)}| < 1 &\implies |b_1| < 1 \\ &\implies (1 + |b_1|)^2 < 4 \end{aligned}$$

The relation (21) becomes:

$$\left| a_2 b_1 - b_2 \right|^2 \leq 16 |b_1|$$

$$\left| a_2 b_1 - b_2 \right|^2 \leq 16$$

$$\left| b_2 - a_2 b_1 \right|^2 \leq 16$$

$$\left| b_2 - a_2 b_1 \right| \leq 4$$

$$\left| b_2 \right| - \left| a_2 \right| \left| b_1 \right| \leq 4$$

Or

$$\left| b_1 \right| < 1$$

Thus

$$\boxed{\left| b_2 \right| - \left| a_2 \right| \leq 4} \quad \blacksquare \tag{22}$$

Second case :

Suppose that

$$2 + \left| 2a_2 - \frac{2b_2}{b_1} \right|^2 \frac{|b_1|}{(1 + |b_1|)^2} \geq 18$$

This inequality holds true for any value of $|b_1| \in]0; 1[$, so

$$2 + \left| 2a_2 - \frac{2b_2}{b_1} \right|^2 \max_{|b_1| \in]0; 1[} \frac{|b_1|}{(1 + |b_1|)^2} \geq 18 \tag{23}$$

Or

$$\max_{|b_1| \in]0; 1[} \frac{|b_1|}{(1 + |b_1|)^2} = \frac{1}{4}$$

So the relation (23) becomes :

$$\left| a_2 - \frac{b_2}{b_1} \right|^2 \times \frac{1}{4} \geq 4 \tag{24}$$

$$\left| a_2 b_1 - b_2 \right|^2 \geq 16 |b_1|^2$$

$$\left| a_2 \right| \left| b_1 \right| + \left| b_2 \right| \geq 4 \left| b_1 \right|$$

Hence

$$\boxed{4 \left| b_1 \right| \leq \left| a_2 \right| + \left| b_2 \right|} \quad \blacksquare \tag{25}$$

We had established that $\{g, z\} = \{\tilde{g}, z\}$

So

$$\{g, 0\} = \frac{g'''(0)}{g'(0)} - \frac{3}{2} \left(\frac{g''(0)}{g'(0)} \right)^2$$

Then

$$\{g, 0\} = \frac{6b_3}{b_1} - 6 \left(\frac{b_2}{b_1} \right)^2$$

Or

$$\left| \{g, 0\} \right| \leq 2$$

Thus

$$\left| \frac{6b_3}{b_1} - 6 \left(\frac{b_2}{b_1} \right)^2 \right| \leq 2$$

$$\left| b_3 b_1 - b_2^2 \right| \leq \frac{1}{3} |b_1|^2$$

$$\left| b_2 \right|^2 - |b_3| |b_1| \leq \frac{1}{3} |b_1|^2$$

Or

$$\left| b_1 \right| < 1$$

Thus

$$\boxed{\left| b_2 \right|^2 - |b_3| \leq \frac{1}{3}} \quad \blacksquare \quad (26)$$

4. Conclusion

In this paper, a majorization of the Schwarzian modulus and some relations on Taylor coefficients have been proposed in a class of quasi-conformal maps in the open unit disk.

References

- [1] Duren P (2014), harmonic mapping in the plane, P Duren. Cambridge.
- [2] Goluzine G.M. ” Geometric theory of functions with complex variables. M, 1966. (in Russian)
- [3] GRAF Sergey Yurench, EYELANGOLI OKANDZE Rufin. On the distortion of the moduli of the double connected domains under locally quasiconformal mappings. Application of the functional analysis in the theory of approximation. Tver State University, 2009, pp. 34-43 (in Russian)
- [4] Eyelangoli O. R, Kalouhohiko B. T. (2023) Analogue of Koëbe’s and Bieberbach’s Theorems in a Class of Locally Quasi-Conformal Maps. J Math Techniques Comput Math, **2(12)**, 499 – 503.
- [5] Eyelangoli O. R, Kalouhohiko B. T. (2023) Bounds Problems in a Class of Quasi-Conformal Maps. Journal of Mathematics Research: Vol. **15**, No. **4** August **2023.p.56**
- [6] Starkoff V.V. (1995) Harmonic locally quasiconformal mappings // Ann. Univ. Mariae Curie-Sklodowska. Sectio A. V. XLIX.-14.-P. 184-197.
- [7] Vasil’ev A. ” Moduli of families of curves for conformal and quasi-conformal mappings ”. Springer Verlag. Berlin; N. Y., 2002, p211.
- [8] Z. Nehari, The Schwarzian derivate and Schlicht functions, Bull. Amer. Math. Soc., **55** (1949),545-551.